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WEST BENGAL STATE COUNCIL OF VOCATIONAL EDUCATION & TRAINING

Higher Secondary (Vocational) Examination, 2011
CLASS XII
{For Regular and Casual Candidates)

ConsuMER & INpusTRIAL ELECTRONICS MECHANICS

Time Allowed: 2 Hours Full Marks: 50
Question No. 1 is compuisory and answer any five from the rest.

[Answer can be written in English or Bengali or Hindi or Nepali only.]

Answer the questions as directed:

(a)} PA stands for . (Fill in the blank)
(b} Diode acts as rectifier. (True/False)
(c) Aspectratiois . (Fill in the blank}

(d) CD is a digital system. (True/False)
(e) Dolby system is used to reduce noise. (True/False)
(f) In India, colour system 15 used. (Fill in the blank)

{(a) Give a comparison of CD and Tape.
{(b) Discuss about the principle of optical recording system.

(a) Give abasic idea of TV transmission and reception.
(b) Write down the compatibility between monochrome and colour system.

Write short notes on (any two):
{a) Woofers;

{b} Crossover circuits;

(c) Microphone characteristics.

{a) What are Modulation and Demodulation?
(b) Draw the block diagram of a FM receiver and discuss the working of each block in brief.

(a) What are the types of noise found in tape recorder?
(b) Explain in detail about them and state remedy if any.

{a) Write with diagram of a stereo system
{b) What is bass, treble and master gain control?

Write short notes on:

(a) Condenser microphone:
(b) Baffle.

{a) What are the requirements of a good PA system?
{b) How microphones and loudspeaker to be placed in the PA system?
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